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2 A 5,042 0.87(5%) 3.0039) 14.8km MEL 3,488 0.87(2¢) 2.3002%)) 13.7km
3 2 4,755 0.90(22)) 3.1429) 16.6km a4 3,432 0.850(721) 2.15(4%0) 14.2km
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o =
A ZICHE SXNXo faQ M - Aq
. H| 23} A4 BEE3 AL
2 t A=l R2
K B EEX-ET H|E} e
(A4) -143.691*** 26.051 -5.516
s 2 H2 LAY H 4 1.206** 0.501 0.226 2.405
= Bjo|olA 0.721%** 0.231 0.307 3.119 0 485
(6291” LOIEZ|A[Ad 4 -12.031** 5.416 -0.163 -2.221 '
EAH AR 229.776*** 38.473 0.433 5.972
7Lt of B 130.027%** 37.225 0.266 3.493
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(9~124]) 24 36.721%** 13.877 0.178 2.646
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CHAI A M 7™ (stepwise selection)2 2 2d FH, * a< 0.1, ** o < 0.05, *** o < 0.01 0| A L2|%t
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*a< 0.1, ** a < 0.05, *** a < 0.01 A o8t
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5. 13x ¥ SHX[2| 7o 24 21 | 23
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